
������� �	��
���
�����
������������������ 
�!

" ��
�� #�$ " ����% " ���&� " $�
��&� " $'��
���
'��(��

!)
��*� #�$'��
+
�,�-.������
'��� 
��	��
�� 
+/ " ��
'
�� ����
�,�$+��� �

021436587:9�5<;8;81=;87=>?7A@+BDCE36581=@)F�GIHJ1436;<7A@JCLKMH�7ONP;<;87QH�7ONP;<;87AR�S

1=T�UWV	T�XNY@65<Z[7]\�N^36T_X1=T�U�N^`aB'b�NY36Zc1OF

F+d N^ef143hg)14ZiNPT.gj7kU�Nk0W1lgjNYZmX1ngj5<oP1=@

HJpDqr9ts�uwv�Cx9�B'pDy�qLGzC�ef143hg)14U�7]y{7A@�g|1=;~}a�nB��l�O�

0�XNa��58o^7 d K���Kf�O�4�A�=��G�02s~�tp+H_V

NPZ[1=58;����Y�?�4�f�{�j�l�I�A�A�?�l���f�n�n�?�4�.�J�6�w�P�w�f�w�l���4�����z�

�



R u�NYo^oY5YX7AT U�NkH�7AZie � g|1=o^5PX7=T

d N^e�gj7�K U�N pDT��ANYT�5<N^3 X� 1]s ; XNYoag63658oY1

HJp'q_9ts�uwv�Cx9EBDp'y�q GzC��MK pDy�q q�7�K��
	4���

H�7A;�K�uz1=T y NYU�367�
 1=oY1ng6NPT�o^7

0 XN ��5<oY7�G d KI��Kf�O���A�A�zG�0Ws~��p�H_V

NPZ[1=58;��������������O�.���w�~� ���P�w�f�w�l���=�������

�.1=T � 143�����G��4�A�4�

���������! #"��

$&%('*)#+-,
.0/1.32�4657298;:<%#,*+-=#2�4>/?,*+-@BA#C-/1'D2E=F/�%#%#2E/�C-+-%HGI/�CJG�:�4K+-'*)#@MLN:�4�@OA#CJP

'*+J:�QSRD2E8;'*+JT�2>:�.#'*+-@U+JVE/1'*+J:<%I.#4K:�Q0CJ2E@(,�WYXZ+J'*)[/\,*A#+J'*/1Q]CJ2>8K)H:<+^8;2>:�LS'*)H2_/�8�8;2�.HP

'*/�%#8;2�.#4*:�Q0/1Q0+^C-+J'*+J2E,�`�'*)H27/�C-G�:�4K+J'*)#@a+-,�,*)H:�5�%['D:I8;:<%bT�2�4*G�2\/�,DcS@F.#'D:�'*+-8�/�C-C-c�`

'*)#/1'�+-,E`b'*)H2edf/14Kg�:�T�8h)#/�+-%�'*)#/1'�=H2E,*8;4K+JQ32E,6'*)#2i/�CJG�:�4h+J'*)#@j8;:<%bT�2�4*G�2E,�59+-'*)

.#4*:�Q0/1Q0+^C-+J'kcU:<%H2I'D:('*)H2[l
/14*2�'D:�:�.#'*+-@(/�Cm,*2�'�W

nporq<s>t0uZorq<vkwHxzy6{>|
}!t0w~q����komx!x1v��7wSorq<v��Y���?�S�S�I�~�r�m�S�S�I�~�r�m�S�b�[�~�

�������&�����k�~�����<���<�e E¡<¢�£<�¤�h¥m¦]�K§¨¥�©�ª R ª�ªeªE«¤¬ F�­�® «¤«°¯±¬¤ªE¬�²�¥3³� E¯±©�ª R ª�ªeªE«¤¬ F�­!´ ª ´
�



� t���� �����_x
	���
����������������
�������
��
 ��!3�"��������
�#�� �%$'&)(*��+,��
.-'�/#�0�$'!'0��
�1�2
���!3�������.3

��
 $'&)(*�4+4��
�-'�5$
#���
��2
�6��7��
 $'�
�8-'�4+4��$'09$'#���
��2
�6��7��
 $'���)+4$'��-'�40�!'�4��+��7:

; < ������
r%�#�����
+
��

�>=�
��?#@�
#���0?+4$'��+��40�������������
�$'&)(*�4+4��
.-'�A$
#���
��2
�6��7��
 $'�B#�0�$
&�� �4�2�C
��ED9=�
 +F=G$'���AD9
 ��=����

��$1$
#���
��2
�6��5��-'�4+4��$'0BHI����+4��
 $'�
������J�K2LIMONQPRLTS'U4LIMONWV�X.X�X.VWS"Y�LIMON*N,:

Z �[J\#�
 +��7�QD/��J]��$^�
#�#�0*$��
+F=_��=����*�`#�0*$'&�� �4�2�G
��G��$a��0��
���*HI$'0*�b��=��1�����.��
 $
&\3

(*�4+4��
.-'�^$'#���
��2
�6��7��
 $'�c#�0�$'&������ 
 ����$d�d�*��0*
 ���2$
H5�*
 ��!'���,3e$'&)(*��+,��
.-'�cLI$'0df*��+��
���
0*g8N

#�0*$'&������1��:��>=�
��>�
#�#�0�$��
+F=�
��������4�h�i�7j
���>�*�����*�5
�H?��=��EHI����+,��
 $
���9S�UFV�X�X.X.VWS"Y��
0��E$7H

��=��k���
�1�k�[J)#O�b��&��\�/$
��=���0lD9
 �*�mLIHI$
0n
����*���
��+��b�\
.H�S'UQ������$
���4�/��
��*�F�7��+��b�@S�on������$
���4�

��
 �1�~���7���^�*$2$
�pNn��=��G�*+��
� �
0�
�6�����#�0*$'&������q�1
 !
=8�r&O�G�1���
��
���!'�������4:

s@$'0>����+F=t+��7�����¤�O$
���G+��
����0lJ��m��
 0*��+4�k�
#�#�0�$��7+F=a��$u��=��G�����.��
 $
&)(*��+,��
�-
�5$'#���
.3

�1
 6��7��
�$'�u#�0�$'&�� ���v�*��+F=a�
�/�,-'$'������
�$'�@�
0lJi�7� !'$'0*
���=��2�¤����
��������������2�
�������
��
 ��!3�)�
���

�
��Jh$7��=��40B0*��� �7���4�a=�����0*
 �*��
 +4�xw �"yz:

Z �.��=�$
��!'=u��=��40��{=��
�/&����4�i��$
�2�B+�$'��-
��0�!
����+4�5#�0�$)$
HI�QHI$'0Q��������
 $'&8(*��+4��
�-
�B�,-'$73

������
�$'�@�
0lJ|�
� !'$
0�
���=��1�`LI�����|w �)� � � ��y�N��}�1$'�*��=�����0*
 �l��
 +4�����*���~HI$'0������.��
�$'&)(*��+,��
.-'�

$'#\��
 �1
 6��7��
�$'�h��$`��$
�E=@��-
������+F=�+4$'��-'�40�!'�4��+��u#�0*$\$
HA0���#�$'0l�����t
 �t��=��x��
����40��7����0��7:

�>=�
��E#@�
#���05
������������E��$h&�0*
 ��!
�x��=�
��E!��
#�HI$'0{�h+����7���E$
H��*
 ����� �7���4���
�������
��
 ��!h�7�.3

�



!'$
0�
���=��1��:

�k�40��b�
D/�/+�$'���*
 ���40}�k�*
 �������7�������7�������7� 
 ��!{�
��!'$'0*
���=��vL�� ZkZ N?HI$'0 �*$'��-)
���!{�����.3

��
 $'&)(*�4+4��
�-'�u$'#\��
 �1
 6��7��
�$'� #�0*$'&������1��:��B�����40��1
 ���]�
���*���2#\��
 $
���x�7���d�a����
.�F�
&�� �

+F=�$

 +��B$
HC��=��E�7+�+��4#��F�7��+��E#�0�$'&@�7&�
 ��
���
����¤�'$'��0�� Z{Z 
 ����=�$ D9�`��$x+�$
�8-
��0*!'�5�
�lJ\�1#\3

��$
��
�+��
����JtLID9
.��=�#�0�$
&@�
&�
�� 
��[J2$'����Nn��$u��=���� �
0��,��$1$'#���
��i�7�O�*�4�k$
H ��=��G#�0�$
&�� �4�^:

�>=���0*���2�

 ������0k$
H}��=�
��{#@�7#O�40{
 �k$'0�!'�
��
 64���t�
�{HI$'��� $ D9��:[�>=��m�����.��
�$'&)(*��+,��
.-'�

$'#\��
 �1
 6��7��
�$'�a#�0�$'&�� ��� L��
	���N{
 �{�*�F�������|
 ���)��+4��
 $'� �\:�
[���\��+,��
 $
� � Dn�u
 ����0*$73

����+��E��=���� Z{Z Dn�G�
0��5+4$'��+4��0�������D9
���=��\Dn���7� ��$x&�0�
�����Ji��
 �*+����*�r��=��G�
��!'$'0*
���=���� �

�
+4+��4#��F�
��+��t#�0�$'&@�7&�
 ��
���
����¤�QD9=�
 +F= �
0*�^+40���+4
��
�rHI$
02#�0*$ -\
���!_�
�*J)�1#���$
��
 +�+�$
�8-
��0 3

!'�4��+��7:�	E��0G�2�

 �]0*��������� 
 �5�l�F�7�����d
����\��+,��
 $
����:1s%
��@�
����JS� $'��0G+�$'��+�� ����
 $
��� �
0��

#�0*$ -\
������a
 ���\�4+4��
 $'� �xD9
���=^�*$'�2�5!
�����40��
�?0*���2�
0�j8��:

� � (&� � #�$'��
'
�,r-O��� ��
'��� 
��	��
�� 
+/ " ��
+
�� ����
�,�$'���

� $c+�$'�1#@�
0*�^-
��+4��$'0���
���� � Y D/� D9
�� �B�����^��=����l�F�
�����
0���� �
0��,��$c$'0*����0`$
��� � Y

�����@���4� �
�>HI$'��� $ D9��:


eH� ! P L ! UFV ! o�V�X�X�X4V ! Y
Nr�
���" # PRL # U,V # o�V�X�X�X�V # Y
N>�
0��5-'�4+4��$'0��B
 �$� � Y ����=����

 !&%  #('*) !,+.-�#/+�02143 � V�X�X�X�V65 X

�



�>=�
��`0��4���7��
 $'� 
 �i� #@�
0l��
��7�B$
0����40`&O�4+��
����� 
.�`
 �20����@���\
�-
�~�k�
����
��*J)�2�1�4��0�
�+t�
���

��0��
���*
���
�-'�7:��d� �
����$m=@��-
�� !��  #(' )  !&%  # �7���� !��P  # X

�>=�����������
 $'&8(*��+4��
�-
� $
#���
��2
�6��7��
 $'�h#�0*$'&������ L��&	 ��NrD/�x�
0�� +�$
��+��40����4� D9
���=


��r��$ �@���^��-'��+,��$'0  M	� 3�

� � ��� ����+F=^��=��7�

K2L  M � NQP �1
 �
������

K2L  MONQP �2
��
������

w S�U�L  MONWV�X�X�X4VWS"Y�L  MON[yTV L � N

D9=��40��aK 	 
 � � ��� � � � Y 
 �m��!'
.-'�4�~-
��+,��$'0mHI����+,��
�$'� D9
���=c+�$'�1#O$
���������

S + 	 
�� � ����� � � HI$'0/���
+F= 1 3�� � V�X�X�X,V65��#���
���`��=��E�1
 ��
������R
��/��������0*�*��$)$)�


�����=��G���4����� $
H ��=����%�70��4��$2$
0����40�:

� tH���_v q<vk�Y� � �zL �%�
0*�4��$1$'#���
 �2�
� 
.�[J�N,:

Z -'�4+4��$
0$ M	� 3!
 
 �>+��
� �����a�#"%$'&)(�*,+-+/.	*10324$'5	67+85:9;*<0=+8>1HI$
09��=����
	�� L � N/
�H

��=��40��G
 �9��$  M 3!
 ����+F=^��=��7� K2L  MON � K2L  M � NWX

�>=��G�*�4�%?@�rP �  M 3!
 	  M 
��9� � �
0��,��$1$'#���
��i�7�O�*$'� ����
 $'�	� 
 �>+��7� � �4�i��=��A"B$'&)(�*,+

+/.	*<0324$'5C67(�*��
����
.���>
 �2�
!'�{�������40kK��@
T: �
:

K2LD? � N 	 P � KiL  MCN 	  M 3 ? � �/V

�




��r��=�� "B$'&)(�* + � &)+8> * :


[�`��=��5�����8���4�CD/�ED9
�� �p���*�E��=��EHI$'��� $ D9
 ��! Dn�������)j8��$ D9� f*�*+��
� �
0�
�6��7��
 $'��g�0��4�����.��:

� �<���°�Yx1v q<v��Y� �m�

	?�4�$ M	� 3�
 &�� �m��$'������
�$'�h$
H ��=��5Dn��
 !
=8�����^#�0�$'&�� ���a	

�2
��
������

Y


�
� U�� �

S � L  MON,V>D9=��40��
� ���

� 0���3�� � V�X�X�X4V65����7���
Y


�
� U�� �

P � X

�>=��4�� M	� 3 ?@��:

� ������� �\�4�~�@HI$'0>
����*���
��+��b� w �]��#C:��~�7yz:

Z ��D/�{�
0��B+�$
��+��40����4�`D9
���=2+�$'�1#������7��
�$'�@�
���
��#���+,���!�\
 �1��=��B0��4�i�

������40�$7HC��=��

#@�7#O�40rD/�GD9
 ��� 0��4#����7+��5��=��G�*�4� 
 
��|L � NnD9
.��=^��� > 03* ( ���,��� � � � � :

� � (&� ��
�� #�$ " ����% " ���&� " $�
��&� " $'��
���
'��(��

�B
 +F=�$'� �
� �^�4��0�$'#�$'� 
��k�,�5�
�z:�w �7y $'0�
�!'
 ���
� �.J`#�0*$'#O$
�����cL 
 � � �H� � N9�
���7� !'$'0*
���=��q��$

�*
 ����� �7���G��=��m�4-'$
� ����
 $'� $7H/�`�*$'� 
��t
��]�`=����7�E&@�7��=����8��
 � 
��E0*���
+F=����]
����{��=��40��2�
�

���)��
 � 
�&�0�
����a:��>=��5#�0�$)+����*�9�*�F�70*���4�hHI0�$'� ��+��40*�F�7
 �`��=���0��1$)��J)�@�
�1
 +{�l�F�7���5$
H���=��

�lJ\�l���4� � �����������_&8J|�h+4��0*���

 �|������0�!7J|�
���]�����1#���0�������0*�
:��>=������ ��=��u�*�F�����uDr�
�

�*� 
 !
=8����J]#���0l����0*&O�4�C: 
eHB��=��`+F=@�7��!'�h
 �d�����40�!
Jd#�0�$)����+4���c&�Jd��=�
 ��#O�40*����0�&@�7��
 $'�

�



D/�
�{����!��7��
�-
�~�O��=��x���4D +�$
� �@!'��0��7��
�$'�^D/�
�5�7+�+��4#����4�C: 
eHA
��BDr�
�k#O$
��
���
�-
�~��
��BDr�
�

�
+4+��4#����4�iD9
���=`�G+���0l�F�

��i#�0*$'&@�
&�
 � 
.�[J':_�>=�
 ��#�0*$\+4������Dr�7�/0��4#O���7���4�`������
����GHI0*$'6��4�

�l�F�7���GD/�
�B�
+F=�
��4-
���cw �3� � � yT:

Z &�$'��� ��=�
 0*�[JtJ'���70�����H ����05��=��2#���&�� 
�+��7��
 $'�]$
H �^�4��0�$'#�$'��
 � �C�
#�#�0*$��
+F=
���G
�0�j'3

#@����0�
�+Fj��4�5�7�T:�w��"yA�
������/��0*�8J w � �7y 
 �����4#O�4�����4�8����J^#O$

 �����4�t$'���k��=��x�
�@�
��$'!
J�&��,3

�[Dn���4����=�
 �mf��
�������
� 
���!'g�#�0�$)+��4���9�
���h+4$'��&�
��@�7��$'0�
 �
�@$'#���
 �1
 6�����
 $
�C: �)��+F=a�
�@�
��$73

!'
������ ��� ��$t��=��h���4-
��� $
#��2�4���m$
Hk�
�~�
��!'$'0�
.��=�� +��
��� ��� f6�\
 �x�����7����� Z �������
� 
���!'g

D9=�
�+F= 
 �k�2=�����0*
 �*��
 + �����
0�+F= ����+F=���
 �8���x��=��7�{=��
�{&����4� �8��
����x����+�+��4���lHI���A
 �^+�$'�m3

&�
��@�7��$'0�
 �
�O$
#���
��2
�6��7��
 $'�2#�0�$'&�� ���1� L �*���iw � y��
���dw ��yCHI$'0>���,�F�

�� �FNW:

�>=���� ZkZ !'������0��������9������+4+����*��
�$'�^$7H #�$'�*��
 &�� �{�*$'� �\��
 $
���/$
H���=��E$'#���
 �1
 6��7��
�$'�

#�0*$'&������a:I�>=����*��#O$
����
�&�� � ��$
� ����
 $'���B�
0*� ��=��x�l�F�7�����E$7H}�$�t�70�j
$ -a+F=@�

����
���a��=��

f*�4����0*!
J)g{$
H��k�l�F�7���n
�����=����4-7�
� ���7��
�$'�G$
H���=��/#�$'���*
 &����Q��$'������
�$'�5��=@�7� 
.� 0*��#�0*���*�������4:

�>=��E�����1#O�40��7����0��E
��/�*
 ����� �7���4�iD9
���=��x�����8������+4��$7H #�$'�*
���
.-'�k+�$'����0*$'� #��
0��
�m3

�,����0*�����7:

Z ��0��7����
.��
 $
� $7H{��=��
�t�70�j
$ - +F=@�

�� $)+�+4��0��1
 �~�[D/$_�*����#��¤�>!'
�-
��� ��=���-
�7� ���

��� $
HG��=���+�$'����0*$'�E#@�70��
�1�4����0�: s%
�0��*�!�9
�H5��=���+���0*0������a�*���7����
�� 1 �k�c���4D �*���7���

	 
 ��!'�4����0��7���4� D9
.��=~��+��40*���

 �~#�0*$'&@�
&�
�� 
.�[J�
 +
� L���� NE�Q�����@����� &O�4� $ DG: �>=��4� �
�

f��7+�+��4#��F�7��+��n0�������g�� +
� L���� NC
�� �7#�#�� 
����5��$ 	 : 	E��0��2�

 �G0��4�����.� =�
 ��!
��� $'�x�B����
.�F�
&�� �

�*��� �4+4��
 $'��$
H ��=�� �
+4+��4#��F�
��+�� 0������~��D9=�
�+F=^Dn�G��$ D ��
���+�������:

�



� s_t�� t0�_t8�<orq<v��Y� � �<� |�or|7vk��v qW����sp$
0n���
+F=h�*���7��� 1 �)� �4� � + &��E� ����&����4�9$7H ��� � 1 �
+��
� ��������=�� ����
�!'=8&O$
0�=�$)$\�a$
H 1 :B�d����=@�7� ���
�*�����1����=@�7�B��=�� �8����&���0{$7HA�������1�������


�� � + 
��9��=��G���
�1�~�@����J�� ��HI$
09�
� � 1 3 �e�p�
���^�
����$m��=@���B��=�� ����
�!'=8&O$'0>0*��� �7��
�$'�h
 �

�lJ\�1�1�4��0*
 +b�O��=��7�G
 �¤� 	 3 � + 
�H��
����$'����J^
�H 1 3 � � :U�>=��4�
�?������$
��
���!h&�J
	���
Q��=��


�����
 +��7��$
0QHI����+4��
 $'�2$
H � + LI
T: �
:�	���
lL 	 N>	 P � 
�H 	 3 � + �
��� �x$
��=���0lD9
 ����N��8D/�{�����@���

��=��G!'�����40��7��
 $'��#�0*$'&@�
&�
 � 
.�[J


 + � L ����N/	 P 	���
lL 	 N� HI$
09�
� � 1 V 	 3 �%X L&�'N

Z �9���*�@�
���@� �4�����]&��G��=��G#O$
��
���
�-
�5#@�
0*�9$7HA�u�8����&���0�� 3 � � ���@�
�1���.J

� � 	 P
���� ��� � 
�H����a��V

� $
��=���0lD9
 ���
X

� s_t o3wHwSt �>q�om�_wSt � ��� |_o3|�v��kv�qW���\�>=��{�
+�+4��#����
��+��k#�0�$
&@�
&�
�� 
��[J~�
D9=�
�+F=`
 �Q+�0*��+�
 �
�

HI$'0G��=��2&���=@��-)
 $
0�$
H/��=���� Z{Z � +��
� &��2�����@���4�c
 �_���4-
��0��
�/��
�� �40��4�8� D/� J)�4:ts@$'0


����*���
��+��b� �\��0�� �@��
�w � �
yC#�0�$'#�$'�*���9��$u�����5��=��! #" �0�>+F=���&�J)+F=����d��$'0�� !'
�-
���a&�J

�%$+ � L ��NQP �1
 �'& � V����\#
( �i� �
�,�*) U,+.-.-.- + Y*/10 � LTS � L 1 N�2 S � L 	 N*N

� 3�4 V

D9=��40��E��=�� 0 � �
0*�E!'
�-
���h#�$'��
.��
.-'�E#@�70��
�1�4����0��4:��>=�
��9�
+�+4��#����
��+��5#�0�$'&@�7&�
 ��
��[Ju=@�
�

�



��=���f*
���+�$
�8-
����
�����+4��g`��=@�7�E
.HQ�2�*
 ��!
� � ������0lJt
��{
 �1#�0*$"-
��� L 
T: �
:{S � L 1 N � S � L 	 N9HI$'0

�*$'�2� � N�$'0r=@�
�n��=��5���
�2�k-
�7� ���b�\��=����`��=��5�*�F����� 	 
 �>�7+�+��4#����4�
��D9=�
�+F=a$
&8-)
�$'�����.J


��k��$7�k-
��0*J^!'$)$\� :9sp$
0k� ���7�2#����~�p
 �ts%
 !
��0�� � �p
 �aD9=�
 +F=]S'U�L 	 N/P S�U�L 1 NE��Dn�x=@��-
�

� +
� P � �
�.��=�$'��!'=aS�o�L 	 N/
��r��$)$_f*&@�
��gu
��a+4$'�1#@�
0�
���$'�hD9
.��=^S�o"L 1 NW:

�

�

�

�

1

	

s%
�!'��0*� � 	��50��
#�=�
 +��7�B
�� �����*��0��7��
 $'�~$
H5��=�� f*
���+�$'��-
����
�����+4��g~$
H5��=����
+�+4��#����
��+4�
#�0*$'&@�
&�
 � 
.�[J � $+
� L��4N/#�0�$
#O$'�*���^&8J �\��0�� �@��
�w � �
yz:

	E�a��=��G$
��=���0>=@�
���
� �k������!'�a�
���a+�$ Dn$'0�j7��0*�mw � �]� � �]� � �]� � � y������

�%$ $+ � L ��N 	 P �2
��
�
� V�� �\#�� Y



� � U 0 � LTS � L 1 N�2 S � L 	 N*N

� 	�

P ���\#

� 2�� Y


�
� U 0 � LzS � L 	 N�2 S � L 1 N�N

� 	 � 
 X L � N

�



�/�����
!'�

 �
�?
�����=�
�� +��
���1
��G
��5#O$
����
�&�� �m��$a=�� -
�2��=��1�
+�+4��#����
��+��2#�0�$
&@�
&�
�� 
��[J

���4#O�4����
���!2$
����=��G+F=@�
��!
��$
H%�#6�03>��'5 (r�4����0*J�S � L 1 N�2 S � L 	 N,V � P � V�X�X�X4V65%X

�k�40��b��D/� ��=@�7� �C���*� ��=�� �
+�+4��#����
��+4��#�0*$'&@�
&�
 � 
.�[J�w � ��y

� +
� L��4N/	 P
Y
�
� � U

�1
 � & � V����\#
( S � L 1 N�2 S � L 	 N
� 3 4 V

D9=�
�+F=^+��
�a&O�G���\#�0*���*�����t
 �h��=��G�*
 �1#�� �40/HI$'0��

� + � L ��N}P � �\# ( 2�� Y
� � U LTS � L 	 N�2 S � L 1 N*N �

� 3 X L �8N

�>=�
��^�7+�+��4#��F�7��+��]#�0*$'&@�
&�
�� 
.�[J 
��h$'&�-\
�$'���*��Jvfl&O�,�����40�gc��=��
� ��=��]$'����
�� L � N

&���+��
�����x$'����J���=���������0�
 �4�k��=@�7�E��$`��$
�{
 �1#�0�$ -'�x�
0�� �F�
j7���]
 ����$`�
+4+�$'�����E��$`+��7�.3

+4�����7��� ��=���#�0*$'&@�
&�
 � 
.�[J �p��=�
 �k#�0�$
&@�
&�
�� 
��[J`+�$'�����t&��x
��2#�0*$ -'���t+F=@�
��!'
���! �G&�J �
�


�����
�-)
����@�
� � � HI$
0>���
+F=^������0lJ � P � V�X�X�X4V65%:

� s_taq���o3��x1v q<v��Y� � ��� |_o3|�v��kv�qW�}:��k� -)
���!���=��h!'�4����0��7��
�$'�~�
���c��=����
+�+4��#����
��+4�

#�0*$'&@�
&�
 � 
.��
����!�8Dn� +��
�a��$ D �����@���G��=�� *<& $'> 6�03*<0=+8>#.	&)+��/$���035:03*
	kHI0�$'� 1 ��$ 	 �
�

� +
� L�����N>	 P

����� ���� 
 +
� L���� N � +
� L���� N 
�H 1 �P 	 V

� 2 �
� � � + ���� + � + � L���� N 
�H 1 P 	

L&�'N

� �



D9=��40�� � +
� 
��9�
�9
 �_L ��N5L $'09�
�9
��dL � N�NW:

�k$7���t��=@�7�iHI$
02��=���$'0*�4��
�+��
�B#���0*#O$
�����`Dn��+��7� �����|S � L 1 N%2 S � L 	 N2
����*�����
� $7H

0 � LTS � L 1 N 2 S � L 	 N�N{$'02LTS � L 1 N#2 S � L 	 N*N�� � � ��&���+��
�����u��=��1� �
�*�5�[Dn$a���\#�0��4���*
 $'��� +��7�

&��2��0��
���lHI$'0��1���_
 ����$a��=�� �@0��l��$'���2-)
�����=��2+F=@�
��!'�4��� � P 0 � S � $'0�� � P S � � � � �

0*����#���+,��
.-'���.J': �k�4��+��b���7�>��=��G0*���2�

 ������0>$
H ��=�
��rD/$
0�j`Dn� D9
�� � �����5��=����@0*�*�B$'���7:

� � " 
�� ������#�$'�

	?�4�

�	��

�%	 P � 1 3 � 	 �
Y
�
� U S � L 1 NQP�� � �8V

D9=��40��

� � 	 P �1
 �
� � � Y



� � U

S � L 	 N,X L���N

�>=��4�
�p&�J �}0�$'#�$'��
.��
�$'� � ����=����%�
0*�4��$1$'#���
 �2�
� �*�4� ? � +�$
�8���

 �����	��

�*�@
T: �
:

�	��

� � ? � X L
�'N

�_�1�����)� #�0��4��������$'��0G�2�

 � 0*���*�����!��D9=�
 +F=|
 �]#@�
0l��
 +4�����70{�*���7���4� ��=��m+�$
�8-
��0 3

!'�4��+��1$
Hn��=��*� Z{Z HI$'0E��=����&	 �vL � N,: �>=��1+�$'��-'�40�!'�4��+��i
 �G�������40��l��$)$\�_
 ����=��

HI$'��� $ D9
 ��!����4�����7:

�)�



� tH���_v q<vk�Y���6�

	?�4� �2L��4N�&��`��=��`��0��
���*
���
 $'� �2�7��0�
 �d�
�*��$)+�
 �7���4�~D9
.��= ��=�� � Z{Z �����@���4� &�J

L��'N�� L �8NE�CL��'N����
���`���4� �7
 �
V��uP ��V � VE�\V�X.X.X �{&O�{��=��{+4$'0�0*���*#O$'����
 ��! �t�
0�j7$ -`+F=@�

��C:

�>=���� ZkZ 
 �>���7
 �h��$��/+8>��'(�&
� ( $86 	82�.	* +8*<0�� $'535 	5
�H

� 
 �� � " � �iL 
 � 3 ? � N}P � X

� s_t#�p�<t]u �m�

	?�4� �2L��4NB&��m�
�{
 ��	E���@��
���
 $'� �i�
�����C�2$
0���$ -
��0!� ����#�#�$'�*����=@�7� 
iL ��NB
 �{
�0�0*�,3

����+�
 &�� �
:°�>=����C	

L ��N��>=�� �^�
0�j7$"-G+F=��

 � =@�
� �9�*�F����
 $
�@�
0*J{��
 �l��0*
 &�����
 $'�& 
 L��4N�� D9=�$
����+�$'�1#O$
���������

�70��5!'
.-'���a&�J


�+ L��4N}P �
�
�"L ��N � �\# ( 2�� Y

� � U S � L 1 N
� 3 V L���N

D9=���0��

���"L��4NQP 

� � � ���\#
(12 � Y

�
� U S � L 	 N
� 3 L���N

� �



LI&pNas@$'0/���
+F= 1 3 �


 �+ 	 P � 
 �
��� � 
�+

L��4N}P �
� �	� 
 � � 	����	��
*L 1 N,V

D9=���0�� � �	��

� � ������$7�����9��=�� �8���x&O�40B$7H%�4� ���1�������B
�� �	��

�[:

L +�N��>=�� � Z{Z +�$'��-
��0�!
���E�7�*J)�2#\��$
��
 +��7� ��J
:

�>=��4��� 0��4�����.���90��4�i�

��`-7�
� 
��h
�H/L �8Nr
��>0���#����
+4���hD9
���= L � N,:

�/�,HI$'0���#�0��4��������
 ��!`��=���#�0*$\$
HA$
H°�>=��4$'0��4� � Dn���l�F�7������$'�1� #�0��4� 
 �1
 ���
0*Jh0*�,3

�*��������:Qs%
�0��*�!��Dn����$7���5��=��5HI$'��� $ D9
 ��!�H �
+,�1��D9=�
�+F=^
��>�����5��$�� � P �
� L 2 �)N � X

�\t0u uZo �m�

s@$'09�
��Jh0*���
�?�8����&���0*����U,V �8o�V�X�X�X4V �'Y�V���U,V��Fo V�X�X�X,V���Y�V

Y


� � U

L � ��2�� ��N�� � Y


� � U

L�� ��2 � ��N 	 � P � Y


� � U

L � ��2�� � N 	 � V
Y


� � U

L � ��2�� � N��
Y


� � U

L�� ��2 � ��N � P
Y


� � U

L � ��2�� � N � X

�_�xD9
 ��� �������]�*$'�2��#�0�$
#O�40*��
����E$7H}��=�����
 �1
���
 ��!m��
��*��0�
 &�����
�$'�
�@D9=�
 +F= Dn��D9
 ���

#�0*���*��������� �)��:��9��+��
� �A��=@�7���a#�0�$'&@�7&�
 ��
��[J ��
 �*��0�
�&�����
�$'�  
 
 �G+��
� �����]��=�� 5:032A03*<03>��

� �



� 0 6�*<& 0 ��9;*<0=+8>2$7HA� �t�
0*j
$ -�+F=@�

���D9
.��=h��0��
���*
���
�$'�h#�0*$'&@�
&�
�� 
.�[J�� 
.H


�+ P � 
 ���� " � �2L 
 �9P 1 � 
 �/P 	 N/HI$'09�
� � 1 V 	 3 �%X


eH9�*��+F=~�t� 
��2
.��
���!`��
��*��0*
 &��\��
 $
�( 
 ���\
 �l���m�7��� � + L ��NxP � �2L 
 �iP 1 N�� HI$'0 1�3 �e�

���4��$
�����9��=��G��
��*��0*
 &��\��
 $
�`$
H 
 �b����=��4�

� 
��� � " � + L���N}P 
�+ HI$'09�
� � 143 �%X

�^$'0*��$ -'�40!�  
 
 ���
� 03>��8$'& 0<$'> * LI$'0A6�* $'*<0=+8>	$'& 	�NG��
 �l��0�
�&�����
 $'�|$
Hr��=��$�t�70�j
$ -

+F=@�7
 �
��D9=�
 +F=a�2���
���>��=@���

 
 P  
 � � L � ��N

��=��7�{
��!�  
 
 �B�1� �4H �B�4
 !'�4�8-
��+,��$'0k$
H � D9
.��=a��
 !
����-7�
� ��� � : Z +4$'��-'��0*������$1��=�
 �

0*����������LID9=�
 +F=a
 �r��0*���5HI$'0 � > 03*,( �t�
0*j
$ -�+F=@�

����FN/
��>!'
�-
���a
 � 	?���1�i� � &�����$"DG:

	E&����40*-
�n��=��7�/L � ��NO��0�
.-\
 �
� �.JB=�$'� ��� 
.H  
 
�� �9#�0�$'&@�7&�
 ��
��[Jk��
 �l��0�
�&�����
 $'�G������
 �lH J)
 ��!


�+ � +
� P 
 � � � +20 1 V 	 3 �%X L �)� N

� �



� �8�@�7��
�$'� L �)� N5
 � +��
��� �4�|��=�� � (�*=$'035 ( � �/$'5 $'> �/(-(���9 $'*<0=+8>m�%�7��� L � ��NG
���+��
� �����

��=�� �'5 +��/$'5 �/$'5 $'> �/( (���9 $'*10=+8>@:


e�n
 �ADn��� �pj8��$ D9�i��=@�7��
 �2�
�1
 0�0*������+�
 &�� � �t�
0*j
$ -1+F=@�

��i�
����$
HO��=��B�*���7���4�n=@��-
�

��=��G���
�1�5#O�40�
�$\�C:°�>=�
 �>$'&��*��0l-
����
 $
��J)
���� ���9��=��5HI$'� ��$ D9
 ��!�:

�\t0u uZo �
�

Z �x
 0�0*������+�
 &�� � �t�
0�j7$ -�+F=@�

���D9
.��=x��0��
���*
���
 $'� �i����0�
 � � 
 �A�7#O�40�
 $)��
�+�
.H���=���0��

� ��
��*��� 	 3 � �*��+F=^��=@�7� � ��� ����X

�\t0u uZo��
�Qw �#�@#C: � �7y

	?�4� � &O� ��=�� ��0��
����
.��
�$'� �2�7��0*
 � $
H2�"�@��
.���~��
 0*0�������+�
�&�� �c�7��� �
#���0�
�$\��
 +

�t�70�j
$ -�+F=��

 �C:U�>=��4�|��=��m+F=@�

��|=��
�G�`����
 �)���m�*�F����
 $
�@�
0*J^��
��*��0*
 &��\��
 $
�  
 �C��=@�7�


��2 
 
��5��=��1����
 �)���2��
��*��0�
 &�����
�$'� ��=@�������7��
�� �@�4�hL � ��N�� �
���
� 
��d�7����
���
 $'���  
 
 �5��=��

+F=@�7
 � � �9� 
 �1
���
 ��! ��
��*��0*
 &��\��
 $
�

���	�
���
�������������	��� �

� o�� �\
���+�� 
b
��m
 0�0*������+�
 &�� �~�����*
 ��! 	?���1�i� ��
��u+��
� &��a�����4� ��=@�7�u��=����t�70�j
$ -

+F=@�7
 � 
��i
 0*0��4����+�
�&�� �^�
��� �
#O�40�
�$\��
�+ LI���4�~w � �B# : � ��y NW: �k�4��+��b�k&�J 	��4�2�2� �

��=���0*�����\
 �l���5�2����
 �8�����*���7��
�$'�@�
0lJ^��
 �*��0�
�&�����
�$'�C:%�_����$ D ������L��'Nk�7���~L&�
N9��$

� �



�*���5��=@����L �)� N/=�$
� ���rHI$'09�7� � 1 �P 	 :Qs%
�0��l�9��$
���5��=@�7�


�+ L��4N � +
� L��4N P 
�+ L ��N 
 + � L ��N � +
� L��4N

P
���� ��� U

�

�+ L ��N � +
� L ��N 
.H 	 3 � +

� 
.H 	 �3 � + X

�\
��2
����
0*��J~�


 � L ��N � � + L ��N P 
 � L ��N 
 � + L ��N � � + L��4N

P
���� ��� U

�

 � L ��N � � + L��4N 
.H 143 � �

� 
.H 1 �3 � � X

�>=8���¤�%��
���+�� 1 3 � � 
�H/�
���_$'���.J�
�H 	 3 � + � ��$^$'&\�F�

�� L �)� N{Dn�2$'����J�=@��-
�2��$

#�0*$ -'�G��=@�7�


�+ L ��N � +
� L��4NQP 
 � � � + L ��NWX

�/�\�B��=�
 �rHI$
� � $ D9�/HI0*$'� L �8N�� Lk��Nr�
��� 	?���1�2� � ��&O�4+��
�����

� �




�+ L��4N � +
� L��4N P

P �
�
�"L ��N � �\# ( 2�� Y

� � U S � L 1 N
� 3 ���\# ( 2�� Y

� � U LTS � L 	 N�2 S � L 1 N*N �
� 3

P �
�
�"L ��N � �\# ( 2 � Y

� � U S � L 	 N
� 3 � ��# ( 2 � Y

�
� U LzS � L 1 N�2 S � L 	 N�N � �
Y
�
� U LzS � L 	 N�2 S � L 1 N�N �

� 3
P �

�
�"L ��N � �\# ( 2�� Y
� � U S � L 	 N
� 3 � ��# ( 2 � Y

�
� U LzS � L 1 N�2 S � L 	 N�N �
� 3

P 
 � L��4N � � + L��4N,X

�>=�
��5��=�$ D9�G��=@���2L �)� N{=�$'� ���¤�CD9=�
 +F=]
��]����0���J)
 �4� ���5#��
0*�2L ��N{
 � �>=��4$'0��4� � :
L �k$
���1��=@�7� ��=�
���#�0*$\$7H*� D9
.��=|$'&�-\
�$'����+F=@�
��!'�4�!�A0*���2�

 ���G-7�
��
 �|
�Hn��=��2�
+�+4��#\3

���
��+��G#�0*$'&@�
&�
 � 
.�[Ji
��>!'
�-
����&�J_L � N/0��7��=���0>��=@�7�dL �8N�NW:

� | � �B$
���E��=@�7�9HI$'0>���7+F= � - �

� 
��
� � ���

�
� P

���� ��� � 
�H��mP ��V

� $
��=��40*D9
����
:
L � �'N

�B$"D(�@&�J_Lk��N���Lk��Nr�
���dL��'N

� �




�+ L ��N P
� ��#�� 2�������
	�� ��
 +��� �

� � � � ���\# � 2 � �����	 � � 
 ���� �
P

� ��#�� ����� �������	 � � 
 +��� �
� � � � ���\#�� ����� ������
	�� � 
 ���� �

P
� ��# � ����� � �����	 � � 
 +��� �

� � � � ���\#�� � � � ������
	 � ��
 ���� ��� 	�� � � 
 L 1 N � 	��
� � � ��
 L 1 N��
P �

� � � � ���\#�� � � � ������
	�� ��
 ���� � 	�� �	��
 L 1 N
�

� ��# � ����� � ����
	 � � 
 +��� �
� � � � ���\# � ����� ������
	 � � 
 ���� � 	���� � � � 
 L 1 N,X

�B$"D � �4� � � ��:��>=������ &�J_L � �
N�����=����*��+�$
���t���40�� $
H ��=�� ���������409����� !'$)���9��$

�r�\D9=���0*���
�9��=��G���4��$'�1
 �@����$'0r$7H ��=����@0��l�B����0*� !'$)���>��$ � �	� 
 � � :4�k�4��+��

��
 �
��� � 
�+

L ��NQP �
� �	��

� � 	 � � ��
 L 1 N � �RP 
 �+ V

D9=�
�+F=^+4$'�1#�� �,�����r��=��G#�0�$)$
H $
H #@�
0*��LI&pN,:

� w � �nJ]L &pNr�
��� 	?���1�2� �

� �



��
 �
��� �

��
 ���� " � � �7
 �BP 1 �5P � 
��
��� � 
�+

L��4N}P 
 �+ V

�
���a�*$2&�J_L �'N

� 
 �
��� �

� 
����� " � � �7
 � 3 ? � � � � 
��
��� �

��
 ���� " � � �7
 � 3 �	� 
 �=�GP � X L � � N

�>=8���

� 
 �
��� �

� 
 ���� " � � �7
 � 3 ? � �5P � V

�
���dLI+ N/HI$'��� $ D9��:

� � 
���� $�#�%�
��&� ����� " ���_�

�_�5=@��-'� ��=�$ D9�^
 � �>=��4$'0��4� � ��=@�7�B�m����
��F�7&�� �E+F=�$'
 +4� $7H ��=�� �
+�+4��#����
��+4��#�0*$'&\3

�
&�
 � 
.��
����%J)
 �4� ���Q��=��E�
�lJ\�1#���$
��
�+B+4$'��-'�40�!'�4��+��5$
H ��=�� � Z{Z :]�>=�
 ��
 ��0����7������0�
 ��!3�\$7H

+4$'��0��*�~� &O�4+��
���*�i
.���1���7��� ��=@�7� ��=��2�
��!'$'0�
.��=�� 
 � 
 �������4�d=����
��
 ��!^
��|��=��20*
 !'=��

��
�0��4+4��
�$'�C:4�B$"Dn�4-
��0¤��HI$'0>+4$'�1#����F����
 $
�@�
� #���0�#�$'���4�!�p$'��09�7#�#�0�$'�
+F=t�1
 !'=��>��$
�9&O�

-
��0*J������4HI���T:


[�����4���
�)D9=@�7�QDn�{�
+,���@�7� ��J�#�0*$"-
�{
��A��=@�7�!�)�
�Q
 �^L � � N��'��=��k��������0*��J)
 ��!��t�70�j
$ -

+F=@�7
 ��+�$
�8-
��0*!'���5��$`��=����*�4� �	��

�QD9=�
 +F=�+��
�]&O��-'��0lJ f*�*�i�7� � g2+�$'�1#@�
0*���t��$`��=��

� �



� �
0��,��$1$'#���
��i�7�O�*�4� ? � :

�>=�
�� 
��G
 � �����*��0��7������
��ds%
�!'��0*�f��
��]D9=�
 +F=_��=�� �%�
0*�4��$�HI0�$
�8� +4$'0�0*����#�$'��������$

��=��`#@�
0l���m$'� ��=��`&�$'�������
0*Jd$
H � (*$

 ��
���!^��=��`#�$'
 ����� � �
�����z���
���~�
� �*$t��=��

#�$'
 ������� �7����� � D9=��40����
�xK2L �	� 
 �zNE+4$'0�0*����#�$'������$'����J ��$a��=��2#�$'
��8���5��=@�7� !'
.-'�

� Ur�
��� � o :

�

�
�
�
�
�
�
�
�
�
�
�
�
�
�
� �

�

�

�

�

�

�

�

�

�� U

�� o

�
�	�

� ��

���

�

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �
� �

� �

s 
 !'��0*�U�\	9�/$'�1#@�
0*
 ��$
�h$
H �	� 
 �A�
���-?@�

� $�
 �1#�0�$ -
�k$'��0 � ZkZ $'���k#O$
����
�&�
 ��
��[J�D/$'��� �`&��k��$x
 ����0�$)����+��{�
�~f*�4� 
.���9���,��g3�

D9=�
�+F= 
 �k�i�l�F�
�����
0�� #�0�$)+�������0���
��t��������
�$'&)(*�4+4��
.-'�G�4-
$'� �\��
 $
�@�
0*J^�
��!'$'0*
���=��2� w �]�

� yz: Z �����7+F=`�*����#i$7H ��=��{�
��!'$'0*
���=�� ����=��B����
����>�*�4�n+�$'�����

 ���n�
������=��B��$'����$'�1
 �@�7�����

#�$'
 �����5!'�����40��7�����_��$�H �
0�:f�>=8���!� &8J]
�����0�$)����+4
 ��!`��=��1��� 
.���m�*�4�1����=��1
������hDn$'��� �

&�����$h�i�
j7����=���+�$
�8���������5$7HQ����+F=]����
������*�4�E��$`+�$'��-
��0�!
�u��$i��=�� �%�
0*�4��$`$'#���
 �2�
�

�~�



�*�4��: �9���*���
0*+F= �
��$'��!���=������ � 
������>
��>
 ��#�0*$'!'0��4���4:

� � �_�&
��m$'��%&����� �������

�>=��h�*��+4$'��� �
����=�$'0m�
+Fj8��$ D9� �4��!'�4�2�*��#�#�$'0*��HI$
� � 	 � Z �nJ0� ��=�0�$
��!'=~#�0�$"(*��+4�

� �H�~� � 3 Z :9�>=�����=�
�0�� �
����=�$'0`D/�
�h#@�
0l��
 �
� �.J �*��#�#�$'0*����� &�Jj� 	 � Z �nJ0� �50��
���

� � � �S�"3 �9:

� ��!|��������� ���

w � y �>: ��: Z �
0*�����
������: ��: �G$
0��*��:�� 032A9 5 $'*,( ��� > > ( $'5:03>�� $'> �
	 +85:*���24$'> >�
 $��
��� 03> (/6�� � � * + ��� $86�*<0�� � . .	&)+�$ ��� *,+�� +82 ��03>	$'*,+8& 0<$'5�� .	*1032A0��7$'*<0=+8>-$'> ��� (�9��
& $'5�� +82�.	9 *103>��
:��
$'=�� � 
�� �,J � �\$
���!�Y�/=�
�+F=����l���40!� � � � � �S�~��:

w ��y��r�
0*� $'� Z :b�/$)����� $O�/$\�4� ��$3� 	5� -)
�� Z :"!��7�#!Q������=8��
 64���
�
�
��� � �
0lJ �{: 	��
�1$'����:

$ �'+85:9 *10=+8>	$'& 	 � 5 � +8&�03*%� 2@6 � +8&&� +85 �703>��'
�9 5:*10%�(� �*)�( ��*<0 �'(@" &)+���5 (�2@6,: �5���8Dn��0

Z +��
���4�2
�+ �}��&�� 
���=��40��¤� �k�4D,+�$'0�j � �t��J��~�~�H�\: 
 � � � ��3 � �S� ��3*� �~�S�"3 � :

w � y �G�
�.J��
���1$ J�	E��&C:-
�9 5:*<0%�(� �*)�( ��*10 �'(�� .	*1032A0��7$'*<0=+8> 9 6�03>��.$ �'+85:9 *<0=+8>	$'& 	 � 5 � +/�
& 03*%� 2@6,:0�
$'=�� � 
�� �,J1� �)$'���!�H�/=�
 +F=��4�*����0!� � ���~�~�S� � : 
 � � �M��3 � � � 3D� � �'� �"332�:

� �



w �
y �G�7��=�0*J)� Z : 	E$ D9�����7���C: �\
������ �7���4� Z �������
��
 ��!�: 
[���/$'��
 � �G: �B�4�4-'�4�!�8����
���$
0!�


 + � (�& >�� (�9;& 0 6�*<0����	( ��� > 0 ��9 (/6 � +8&�� +82 ��03>	$'* +8& 0<$'5B" &/+���5 (�2@6��>+F=��
#����40��]�

#@�7!'���O�~� �0�S��:-�
$'=�� � 
�� �4J � �\$
���!� � �~� � :

w ��y��O: �5
 0�j8#@����0�
�+Fj �6�{: 	�: �5��� � �7���!� �7�����_: � : !Q�4+�+F=�
z:�	5#\��
 �1
 6��7��
�$'��&�J �\
����\3

� �7���4� Z �������
� 
���!�: � ��0=(�> �/(�� �~�~�@L �H�~�S��NW	 � � � �]�S�S�]� � �S� � :

w �7y�� : 	��'�
0�=�$"-
���^�
���
�>: ��: Z �70*���4: � 032A9 5 $'* ( �#� > > ( $'5:03>�� ��� � (/+8& 	 $'> �&� . .	5:0%�
� $'*<0=+8> 6,: 	�: �9��
 �����&� �/$'�*��$'�
� �t�7�����7+F=)�����4�*���¤� � �S� �\:

w ��y �m: sn: 	���D9� �40�: � > *1&)+ � 9���*10=+8> * + � * + ��� $86�*<0�� " &)+ �/(/6/67(/6,: �/=@�
#��i�
� �

�k�
� ���S� �I�B� �/$)+�� �B�7��$
�
�@s%��$'0�
��@�r� � �S�H�\:

w �7y � : �^�,��0�$
#O$'��
 �¤� Z : � : �B$'�*���8&�������=
�$�_:�� : �9$'���4�8&�� ����=
� Z :�� ��� ����0¤�i�
���

�>:0� �4� � �40�: � �8�@����
 $
�i$
H �)�F�7���±�r�7� +������7��
 $'���}&�J2sA�
�l�I�/$
�2#��\��
 ��! �^�
+F=�
 ������:

� +89 &�>	$'5 + � � � (�2A0�� $'5 "���	 6�0��/6�� � � L���NW	 � �S� � � � �S�H�]� � �H� � :

w �7y �G�

���� �_:��^
 �,����
 ���4�C: � +8> 5:03> ( $'& 
!9;5:*<0=+��*)�( ��*10 �'( � .	*<032A0��7$'*10=+8>@: �5���8Dn��0

Z +��
���4�2
�+ �}��&�� 
���=��40��¤� �/$'�*��$'�
� �t�7�����7+F=)�����4�*���¤� � �S�~��:

w � �7y�!x: ��/��0���J�: Z �>=��40��1$\�\J\���
�2
�+��
� Z #�#�0*$��
+F=~��$]��=����>0�� -
����
 ��!����
�����*�i�
�

�}0�$
&�� �4�^	 Z �����2+4
 �4�8� �\
������ �7��
�$'� Z � !'$'0*
���=��^:	� +89 & >	$'5 + � � .	*<032A0��7$'*10=+8>

� � (/+8& 	#$'> � � . .	5:0�� $'*<0=+8> 6�� �#��L � NW	 � � �r� � � � �S�H�\:

�S�



w �)� y �����������0 �9����$'��#�=C: 	E� � �^������
.3 	5&8(*��+4��
�-
���A-
$'� ����
 $'���
0*J Z � !'$'0*
���=�� �
���


e��� �/$'��-
��0�!
����+4�d��$~��=����Q�
0*�4��$"�\�,��: 
[� " &)+ �/(/( � 03>��86�+ � *%� (��'*%� ��$�$�$
� +8> � (�&)(�> �/(-+8>�$ �'+85:9 *<0=+8>	$'& 	�� +82�.	9;*=$'*<0=+8>m�A#@�
!'�4� � �|� �r� � �]� �}
 �*+��7����Dr��JS�

�B�4D �
�40����,JS� � �S�~��: 
 � � ���}0����*��:

w � ��y �����������0 �B����$'� #�= �
��� Z � � ���7����0�� Z !��
#�
 �
: �/$'��-'�40�!'�4��+�� �}0�$'#���0l��
����t$7H

�\$
�2�*�^���.��
.3 	E&)(*��+,��
�-
� �}-
$'� �\��
 $
�@�
0*J Z � !
$'0�
.��=��1��: 
[� " &)+ �/(/( � 03>��86 + � *%� (
������� � +8> � (�&)(�> �/( +8> $ �'+85:9 *10=+8>	$'& 	 � +82�.	9 *=$'*10=+8>m�p-'$'�����1� �]��#@�
!
��� � � � � �
� � � �r�,�}
 �*+��7����Dr��JS���B�4D �
�40��*�4JS� �
���.J��~�S�~��: 
 � � ���}0����*��:

w � � y����7��
 �&�_: �\�

��E�
��� �{�7&�
 &
+�$
�����*�4H : ��*,(�& $'*<0 �'( � +82�.	9;*,(�& � 5 � +8& 03* � 2@6	� 03*%�
� . .	5:0�� $'*10=+8> 6 03> $ >��'03> (/(�& 03>���
 � +85 �703>���� +82 ��03>	$'*,+8& 0<$'5 � .	*<032A0��7$'*10=+8>-" &)+����
5 (�2@6,: 
 � � � �/$'�1#������40 �\$)+�
 �,�[JS� 	?$'� Z � �
�1
���$
�!�r�r�
� 
.HI$'0���
 �r� � �S�S��:

w � �
y�� �
$'� $��\�40�� ����
T: �\
������ �7���4� Z �������
� 
���!`HI$'0��^������
�#�� � 	5&8(*��+4��
�-
��	E#���
 �1
 6��"3

��
 $'� �}0�$'&������1��:�
[� �u: ��:°�>64����!r� ��: s/: � �
��!3� ��: � : �_���
�r�
����� :�	}: +��
�

�4��
���$'0��¤� " &)+ �/(/( � 03>��864+ � *%� ( �C(�> *%� � > * (�& >	$'*<0=+8>	$'5 � +8> � (�&)(�> �/(4+8>�
!9;5:*<0 .	5 (
��& 03*,(�&�0<$��@( ��0 6�0=+8>�
 $�
803>�� � $���. $'> � $'> � $ > & 0���� *%� (�� +824$'03> 6 + � � � 03>�
803>��
$'> � � . .	5:0�� $'*10=+8>m� -'$
� ���1� � �"#@�
!'�4���~� � �r�~�H�0� �/��0*� 
 ��� � �S� ��: �)#�0�
���!'��0 33!Q�40����7!�:

w � ��y �>: 	Q: �k������!'�C: � .	*1032A0 6�$'*<0=+8> � +82 ��03>	$'* +803&)( 2A9;5:*<0���& 03* (�&)(���� (�*,(�& 2A03>	$'*10=+8>
� ( 5�� (�> 67(�2 ��5 ( � (/6 67+85:9;*<0=+8> 6 (�� � $ �/(/6 (�* 2#(�* � + � (/6 03> * (�& $ ��*<0 �'(/6,: �}=�	 ��=��,3

� �



�*
 �!�Cs��7+����.���� �������\+4
 �4��+��4�!� �B��
�-
��0��*
��������� �^$
���l3 �{�

��@�
���!� �^$'���!� �/�4� !'
������

� �~� � :

w � �7y �>: 	Q:��k������!'��� ��:U� �4!'=��4� �2�
��� �Q= :�s@$'0*�����1#���: �B����0*
 �l��
 +4�|HI$
0_��������
 3

$'&8(*��+4��
�-
� +4$'��&�
��@�7��$'0�
 �
�O$
#���
��2
�6��7��
 $'�1&�Jh��
����������������7�������7� 
 ��!�: 
[� ��: �5�
�

�m:H�/=��4�
����: �_��
&�8�7��� �O:'�d�
��!3�
����
.��$'0*�!� 
!9;5:*<0 .	5 (1��& 03* (�& 0<$ �@( ��0 6�0=+8>�
 $�
/�

03>�� � � � (/+8& 	 $'> � � . .	5:0�� $'*10=+8> 6 
 " &/+ �/(/( � 03>��864+ � *%� (��8*%� � $'*10=+8>	$'5 � +8> � (�& �
(�> �/( +8> 
�9 5:*<0 .	5 ( ��& 03*,(�& 0<$ �@( ��0 6�0=+8> 
 $�
803>��~�>#@�7!'��� �S�~� �r� � �r� � 
�������$
0!�

� ��� � �S�H�\: �)+�
.3 � �4+F=C:

w � ��y �>: 	Q:��B� ����!
�
�'��:F� �4!'=������ �}=C: sp$
0*���4�2#��!�1�
��� 	�:F� �\J)�*���4����: �
	 � Z

�^�,��=�$)�C	 Z �>$)$'�>HI$'0 �\$
��-)
 ��!��^������
�$'&)(*�4+4��
.-'� �/$'��&�
 �@�7��$'0�
 �
� 	E#���
 �1
 6��"3

��
 $'���}0�$'&������1��: � +89;& >	$'5 + � 
!9;5:*<0%�(��& 03* (�& 0<$�� ( ��0 6�0=+8> � >	$'5 	76�0 6��_�@L ��N,	 �S� � �
� � �r� � �S�~��:

w � �7y �>: 	Q:.�B� ����!'�
� ��:
� ��!'=��4� � �
��� �/=C: 	E�l��: ���2+4
 �4��+4J]$
Hn
 ������0��7+4��
.-'�m��������
 3

$'&8(*��+4��
�-
� �*
 �������7�������
�������
��
 ��!x��=�0�$
��!'=a��+��
�*�G�*������J': � +89 &�>	$'5�+ � * � ( � . �

(�& $'*<0=+8>	$'5�� (/67( $'& ��� � + ��0=(�* 	�� �H��	 � � � � � � �H�~�]� � �~�S��:

� �


